(TiCly-POCl3)s Structure:
ATBCD oP80 61 7c_c_c_c-001

This structure originally had the label A7BCD_oP80_61_7c_c_c_c. Calls to that address will be redirected here.
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Prototype Cl;OPTi

AFLOW prototype label A7BCD_oP80.61_7c_c_c_c-001
ICSD 27520

Pearson symbol oP80

Space group number 61

Space group symbol Pbca

AFLOW prototype command aflow —-proto=A7BCD_oP80_61_7c_c_c_c-001
—~params=a, b/a7 C/a7 T1,Y1,%21,%2,Y2,22,T3,Y3,23,T4,Y4,24,T5,Y5,25,L6,Y6, 26, L7,
Y7, 27,28,Y8, 28, L9, Y9, 29, £10, Y10, 210

Simple Orthorhombic primitive vectors
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a; = ax
az = by
ag = cz
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = r1a; +yias + 21 as = ax1 X+ by ¥+ cz1 (8c) ClI
B, = —(ml—%)al—ylag—i— = —a(xl—%)fc—byly—l—c(zl—l—%)i (8c) Cll
(214 3) as
B; = —zra;+ (y1+3) ag — = —ar 1 X+b(y1+3) §—c(z1—3) 2 (8c) ClI
(1) as
By = (mi+3)ai—(y1—1%)a—za; = a(zi+3)&—byp1—2)y—cn2 (8c) ClI
Bs —x1a; — Yy az — 21 as = —ar X —byy —cx 2 (8c) ClI
Bg = (zm1+3)aityas—(x1—3)a; = a(zi+3) X+bypy—c(z—13) 2 (8c) ClI
Br = ma—(y1—3) at+(a1+31)a; ar1X—b(y—3) F+e(n+1)2 (8c) ClI
Bs = —-(m-Ya+pm+i)at+ = —a(z1— ) X+b(y1+3) §+cn2 (8¢) Cl1
21 a3
By = Toa + ysas + 2o as = aro X +bysy +czoZ (8c) Cl1I
B = 7(1727%) a; —ysas + = fa(IQf%)fcfbygijrc(zQJr%) Z (8¢) ClII
(2 + 1) g
Bi1 = —roaj + (y2 + %) as — = —areX+0b (yz + %) y—c (22 — %) Z (8¢) Cl1II
(22— 3) as
B = (l‘g—‘r%) al—(yg—%) as—z29ag = a(xg—&—%) &—b(yg—%) ¥ —c27Z (8c) Cl1I
Bz = —Tga; — yoag — 29 a3 = —aro X —bys § —c20 2 (8¢) ClII
Biu = (z2+3) ai+par—(n—3%)a; = a(za+3) K+byy—c(ea—1) 2 (8c) Cl 11
Bis = wmai—(y2— 1) ar+(2+i)a; = arsX—b(y2—3) §+c(za+3) 2 (8¢) Cl1II
Big = —(z2—3)ai+(p2+3)a+ = —a(wy— %) X+b(y2+3) §+cxi (8c) Cl 11
Z2as
Bir = r3a; + ysas + 23 as = arzX + bysy + cz3Z (8¢) Cl III
Bis = —(v3—3) a1 —ysax + = —a(zs—3) X—bysy +c(zs+3)2 (8¢) Cl1III
(z3 + %) as
By = —x3a; + (y3 + %) as — = —ax3X+0b (y3 + %) vy—c (23 — %) Z (8c) Cl1 111
(23— 3) as
By = (1:3—|—%) al—(yg — %) ay—z3a3 = (l(333+%) i—b(yg — %) V—cz3iZ (8¢) Cl1 111
B>y = —x3a; —Yysas — 23 as = —ax3X —bysy —cz32 (8¢) Cl 111
B = (z3+3) ai+ysar—(z3—3) a3 = a(zs+3) X+bysy—c(zs—1) 2 (8c) Cl III
By = xgal—(yg, — %) a2—|—(23+%) ag = axg)“c—b(yg — %) y—l—c(z;),—i— %) Z (8c) Cl1 111
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fa(as(;f%) f{+b(y6+%) V+czz

> N>

ax7X+byr ¥ +cz72

—a(xy—3) X—byry +c(zr+3) 2
fax7)“c+b(y7+%) yfc(z f%) Z

a(:m—%—%) )‘(—b(gﬁ—%) y—cz iz
—ax7X —byr ¥ —cz72
o(or+3) K Hbrg (o)

Z
ax7>“cfb(y f%)y+c(27+%) Z

Cl III

ClIV
Cl1IV

Cl1IV

Cl IV
Cl1IV
Cl1V
ClIV
Cl IV

clv
clv

Clv

Cclv
Cclv
Clv
Clv
Cclv

Cl VI
Cl VI

Cl VI

Cl VI
Cl VI
Cl VI
Cl VI
Cl VI

Cl VII
Cl VII

Cl VII

Cl VII
Cl VII
Cl VII
Cl VII



B56 7(!1777%) a; + (y7+%) as + —a (CC7* %) ﬁ+b(y7+%) 5’+CZ72 (8C) Cl VII
Z7as
Bs, Tgay + ys as + 2g as argX + bys y + czg Z (8c) Ol1
Bss —(l‘g—%) a; —ygas + —a(xg—%)f(—b%y-i-c(z@;—l—%)i (8c) OI1I
(s 4 1)
Bso —x8a1+(y8+%) as — —ax8i+b(y8+%) yfc(Zg;—%) Z (8¢) (OB
(s —3) as
Bso ((Eg-’-%) al—(yg—%) as —zg as a(:rg%—%))‘(—b(yg—%)y—czagi (8¢) OlI
Bs1 —Tga; — ygas — 2g a3 —axg X —bys ¥ — c23 % (8c) (0N
Bso (a:8—|—%) al—i—ygag—(zg—%) as a(xg—&—%) 5(—|—by8§f—c(28—%) Z (8¢) Ol1I
B63 Igalf(ygfé) a2+(zs+%) as axgifb(ygf%)y+c(28+%)2 (8C) Ol
Bea —(zs— %) ar+ (ys+3) as + —a(zs—3)X+0b(ys+3) §+czs2 (8c) Ol
zZg as
Bss Tgaj + yg as + 29 as argX + byg y + czg Z (8¢) PI
B66 7(1797%) a; —Yygag + 7&(1‘97%)5\(7by9y+6(29+%)2 (8C) PI
(2’9 + %) as
Ber —x9a1+(y9+%) ag — —axg)‘(—i—b(yg—i—%) y—C(ZQ—%) Z (8c) PI
(20— 3) as
Bsgs (Ql‘g—l-%) al—(y —%) as —2Zg as a(xg—&—%)f(—b(y —%)9—0292 (80) PI
Beg —Tgal —Ygaz — Zgas —QaXy X — byg 5’ — CZ9 Z (8(3) PI
Bro (:ﬂng%) a1+yga27(2975) as a(x9+%) )‘{erygyfc(@f%) Z (8¢) PI
B+ mgal—(yg—%) a2+(29+%) as angc—b(y —%)9—1—0(294—%)2 (8c) PI
B = - Daterhet = el DEebrd)yied (o Pl
Z9 ag
B3 Z10 a1 + Y10 a2 + z10 a3 ar1oX +by10 ¥ +cz102 (8c) Til
Bra —(z10— 3) a1 —yoaz + —a(z10—3) X —byio ¥ +¢ (210 + 3) 2 (8c) Til
(210 + %) ag
Brs —zpar + (yio + 3) az — —az10X+b(yi0+3) §—c(z10—3) 2 (8c) Til
(210 - %) ag
B76 (:Elo + %) a; — (le — %) as — a (CClO + %) Xx—b (le — %) 5’ — CZ10 Z (8C) Til
210 A3
Br7 —Z10a1 — Y10 @2 — Z10 A3 —az10X — by10y — cz102 (8c) Til
Brs (z10+ 3) a1 + yoaz — a(zi0+3) X+byoy —c(z1i0—3) 2 (8c) Til
(210 — 3) a3
B7g Tipap — (le — %) as + ario X—b (yl() - %) 5’ +c (210 + %) Z (8C) Til
(210 + 3) as
Bso —(z10—3%) a1+ (yio+ 3) ax + —a(z10—3) X+b(yio+3) §+czo2 (8c) Til
Z10 a3
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